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L Impact of nmpy mb
a. A7 37 in a"nan w/o YY, 'Y makes it into "7 (22N 19N pN); but a NP does not (VA 1IN PIN)
i. Challenge (»”): implication that if there was 9w, even a nmp would make it into a full »m
1.However: how does the loaf of bread (m&1an q1m»w) turn a location into »"nv or 17n7?
2.x117712: public courtyards and dead-end streets — if someone throws in there — 2n (>"n1) with or w/o 211y
b. Rather (77172 37): in a »an that is unfit for 9M>Y; a MY makes the »an into »”n7; a NMp does not
i. Inference: T 21 holds that a 'Y is a real n¥'nn and a nMp is just a 712’0
1.737 subscribes to same formula — Y is a n¥'nn and NP is a 10
2.X837 both mY and nMp serve as 13'n
a) Challenge: if you throw into a »an — with a 'nY>1»n; without a "> >mva (MY is a n¥nn)
i. Corrected reading: if it only needs a 'n% ->2»n; if it needs 'n% and something else > 10a
b)  Challenge: "M '7's permission to carry from his »"n1 to his other on both sides of 1”1
i. Through: % on each side (MY is a full n¥nn)
1.Answer: nmiv "1 holds that 2 mx'nn are all needed (already there) and 5 is a 120
1L 19: requirements of a square »an
a. Per Am 27 is not “fixed” with npy MY
b. Per »wn 72 871 ’1. a nov-wide nMp is insufficient
i. N7 77 since it is square, it is no longer a "an; rather — 23n, which doesn’t fix with n1py 'nY; requires va of V™7
1.Question (8771 77): why not consider the 'n% to be a va and permit the 7¥n/man?
2. Answer: per 1N "7, a v8 must be V"1 wide to be NN a ¥n
ii. 271 a »an that works with nm1p1 'Y is longer than it is wide and has m7x¥n and houses opening into it
1.And: a 73n that requires a 4-side va is a square
a) Challenge: this implies that if it is round (e.g.) it doesn’t have that requirement
b) Rather: read — if longer than wide, it is »an ("Mp/nY); if not — 9¥n (requires 7 va)
i. Question: how much longer than wide must it be to be considered »an?
1. 581mw: thought to answer — 2x
2.27 quoted ®R»n "1 (21)2an”) — as long as it is longer at all - nan
III.  Analysis of interaction between student (representing Y&ynw> 1) and y™
a.  Challenge: y"™'s position is same as p"n
b.  Answer: one of them agrees with '>nx 1 that a an of less than v"7 needs nothing
i. ¥77(in 8177772): SRYNW "1 never said that — the student said it; yet na5n follows that report
1. Answer (581®): ™ said this to keep students sharp (really rejected report)
2. Answer (»7227): " said "pR0” in favor of the student’s report
a) 5717. “one student” is n"; first studied with SRynw "3 then moved to Y™
i. Per: his report of Y8ynw "1 allowing him the use of mIMPIp in ink, then ™ forbidding it
ii. Challenge: opposite sequence reported
1.Resolution: he first studied with ™, couldn’t follow him, moved to ™, “graduated” to ™
b) Conflicting reports: if n™ forbade mympip for NVIO NYIa in NN 990 (1227)0r only a NMVIL NN (APY? ")
i. Alignment: with dispute about use of one nv10’s scroll for another woman (v. 1)
1.Unlike: 03 which can never be used for another woman; there, n»wy is writing; here, erasing
2.Rejection:one who forbids allows use of n”v; this n%an was designated for a specific woman
3.And: one who allows only permits n%n written for nvyo n»pwn, not for n”"o
) Praise of &n “1. and possibility of identifying him as »xmn1 "1 (v. 2)
i. Story: ongoing dispute between n”1y v"a and the “heavenly resolution”
1.Value: of humility among scholars
2.Aggadic excursus: exhortative and reflective ideas regarding status of mankind
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